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1. Complete the chart
Compound Molar Mass Mass of Solute Moles of Volume of Molarity (M)
(g/mol) (2) Solute solution
HCl 36.46 26.0 O i 600 mL I 1 G
H,S0,4 98.07 62.0 O e 1.00 L Clp >
H3PO4 98,00 75.0 Ve 7 0.750 L Ly 23
CaO 5. 08 48.0 0,% 0.250 L 349Y
NaOH %, 00 80.0 SO 0 leOlg L 3.30
KOH Lol IS0 0.450 (: 549 L 0.82
Al (SO4); 34207 171.09 0.500 /.00 C 0.500
K,Cr, 07 294.18 5 S 0O, 0 375 mL 0.800
2. Complete the chart
Compound Molar Mass Mass of Solute Moles of Mass of solvent | Molality (m)
(g/mol) (g) Solute (kg) _
HC,H;0, 60.05 100 | (, 7 1.20 /.39
Mg(OH), SED3 25.0 WE 0.10 4,30
HBr %041 J0,10 0.990 0.50 1.9%
Na,CrO, ILLY K 22.0 0. 150 0.2Y 0.400
KMnO4 158, 04 118,52 0,75 2.50 0.30
CuNH4(NO3)s IR ATE 125.0 O, 9671 L 0.375
NaHCO; XU 0l /.0 1.50 2.3 0.525
(NH4),S0, 22,17 .09 0.500 0.525 0,955

3. If I make a solution by adding 83.0 grams of sodium hydroxide to 750 mL of water. What is the mass
percent of sodium hydroxide in this solution?
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4. How many grams of LiOH are needed to make a 25 g of a 4% solution?
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5. An 800 g solution of Kool-Aid contains 780 g of water. What is the mass percent of solute in this

solution?
0 o N
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6. If a 4000 g solution of salt contains 40 g of salt, what is its mass percent?
OO0 seludom
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X = Tuse 4 X

7. A solution of 1.00 M NaCl is available. How many milliliters of this solution are needed to make a
total of 100 mL of 0.70 M NaCl solution?

LOOM NeC N = Mo | OOZ B 0‘70/ /00:&

X= mlL solubion="Yy
1 =70
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Iw( /HL }%QCI = N —
oM = M I > 70.00mL ,’

8. You have 5.00 mL of a solution labeled 6 00 M HCl and you add enough water to give a total volume
of 14.00 mL. What is the concentration of the new solution.

U =500 mL ((0 oo\(% COB /4.00 x
i = LOoM 30 .60 = /900 x
Vi_= X
" 9. Concentrated HCl is 12 M. What volume of 12 M solution is needed to make 2 L. of 1.00 M HCI
solution? PP
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10. How would you prepare 25 mL of 0.010 M NaCl starting with 0.500 M NaCl solution?

V23S mlL (C‘/Q‘O\(Iaﬁx ( e f\X
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\}9 =X OIQS‘ - OSCY) 7?___
Moy =0.SLOM [x= 050 mil |
M G’N} What mass of NaOH is needSed to Prempltate the Cd"? ions from 35.0 mL of 0.500 M CANO3)2 1t luine
solution? & Dnadl 1+ Cd{NOsYy — ONo N0z~ dJloh), T
X= C I\IOD\)‘ ‘ @ Q,CO 5"5-;‘; @) | e | ({d\//\/()'s\; = >2 /7,01 NAOH
J = 35.0mL (Ao x-0: 01/(7/&410} 00175 = 0.03%
CdNC> | —i}
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12. 50.0 mL of 0.100 M Na3;PO, is mixed with 150.0 mL of 0.250 M Pb(NOs), to produce a solid
- J;qm\ precipitate of lead (II) phosphate. What mass of this precipitate will be produced‘?
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13. What mass of solid aluminum hydroxide is produced when 50.0 mL of 0.200 M AI(NO3); is added to
200.0 mL of 0.100 MKOH? @ p/no, +2E0M = Al (0H)5  #3E N3

e - 500 mL AING).- @ 0.900 = 575 b A (f\)(f)sbx3 =1 gl /)I[OHS}
/}7 0. DM /‘1 INOE X 1] ppgel i /\/035> I8 C\ = 0O 0\
@ bt ' S

%0 }“LKDH 10 g * 4 e / @ \ — —

- 0.1 = O =) -, g 3
mg - ¢, IOO/V\)\AOH C 20,9 ol KoM > OO\ “Y\Q\ A\(O“ 3 \7&0‘3; _ I(l 7<} Al /OH\S ‘l
=9 Alled }rr\f\o\

14. How many grams of silver chloride can be prepared by the reaction of 100.0 mL of 0.20 M silver

£2q AN nitrate with 100.0 mL ofO 15 M calcium chloride? (.. Jf'ffl Oz * lolly — AR Cl 7 (a (WO ;
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15. What volume of 0.075 M HCl is required to neutralize 100 mL of 0.01 M Ca(OH)z?Glutlotjﬁ
@ Ina v Calol), — SHow + (aCly

.75 M HA
\f e HC‘ Q\) N @ iIVlD\ C(T(O H\J = :‘)/Iw \ H()‘ (-/) 0 C) S wl CUQ
Y. o= ~ p
j00 ml Ul{()H\Q C/ﬁl—'l Ol O:OO\ = O,(:Oa .m/ﬂ(’l
a0 M Ce [oH\ 9 £ - 0.00! me I 0075 % = 0,00? - |
L ‘LLI‘} L% o 0&7 L UF 9(&‘ COﬁ/r‘H

16. If it takes 54 mL of 0 L\M NaOH to neutralize 125 mL of an HCl solution what is the concentration

of the HCI1? NeOH + HCI = o + Nal R
>5Y ml NGB e ‘ , 9 0,005 _ |
M =01 NepH @ 0.0 = g.5Y @’ Vel NeoW = anel HC Q e 4 2.2 x/0
V- 1F5ml HCA x> 0,005 mol Nl 0,005 9ol =6.005% el o '
M= x ) lioni ‘(J e

17. If it takes 25 mL of 0.05 M HCI to neutralize 345 mL of NaOH solution, what is the concentration of
the NaOH solution? Hel 4+ Neo N = Hod + NaCl

M= DSml Heo
e 1 (S 0.00/55 yel 608
mlw,mq‘\“ @ o.0s Y () Jowol Hep = /o Na() I+ il b—g%ﬁz — Y50 %10 M
¥- B4emL A (9.001F5m) = 0,00135 mol S Nod i
=% NaO X = 0 001 ol  I— =
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18. What volume of 0.175 M sogution of KOH is needed to titrate 30.0 mL of 0.200 M H,SO,4?
e x Ko\j\ - JYOH + Hgy’c/ —7JHOMK 4 Ka Sé‘y
} S YO . z
Py =0T FE & 0.9t = 35 @ |l 4,80, > I el v ol & o ome £
v =2om oy S 0oL el @ ook L 0,019 ol LOW oLl 0175
M\ = 0 00M NPy =& (“‘?ft_f_} A ' : Y 1S 4 i
L g.orgd = L. 114 -~ ﬁ
I..-n.:,-nl 3 k o= OAOUK L o (‘;(6'6 ./_/)’ll— ‘
19. What is the normality 0f 0.1381 M NaOH? —— )
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20. What is the normality of 0.0521 M HaPO,4?
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21. Calculate the normality of 6.32 g of Ca(OH), in 5.85 L of solution.
L3 o CaloWs 24 16 ‘ \ - S
%.{s%oe ' =B V0siep f—o{),‘ -10.03 N 7
=N Lf-f‘j‘- Lg}_\ otr . 20,17 e ‘wt ) or .
mIm- 7’-{,[Oj}mu| 32 O j / J, Q/ X110 N ‘|

22. Calculate the normality of 94.21 g of AI(OH); in 2.0 L of solution.
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